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Adding with zero digits up to 100 #3

30 + 70 = 21) 4747 =
80 + 74 = 22) T7T+1=
33470 = 23) 24+ 1=
69 +0 = 24) 50 + 80 =
29 + 80 = 25) 60 449 =
80 + 99 = 26) 20 + 97 =
30 499 = 27) 34+0=
91 +0 = 28) 5043 =
10 4 46 = 29) 4+7=

27T+ 3 = 30) 9480 =
53+ 4 = 31) 734+4=
4429 = 32) T4+3=

77+ 80 = 33) 80441 =
91 + 80 = 34) 1+73=
30+ 15 = 35) 61+ 1=
10 444 = 36) 50+ 19 =
37 +4 = 37) 1045 =
8+91 = 38) 70430 =
0+39 = 39) 0+13 =
bh+02= 40) 78 + 30 =
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Adding with zero digits up to 100 #3 (Solutions)

30470 =100
80474 =154
33470 =103
69+ 0 =69
29480 =109
80499 =179
30499 =129
91+0=91
10 + 46 = 56
27+3 =30
53 +4 =57
4429 =33
77+ 80 = 157
91 +80 =171
30+ 15 =45
10 +44 = 54
31 +4=41
8+ 91 =99
0+39 =39
5+ 952 =57
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47+ 7 =54
MT+1=1T78
244+1=25
50 4+ 80 =130
60 +49 = 109
20497 =117
34+0=34
50+ 3 =53
4+7=11
9+ 80 =89
B+4=T7
7+3=10
80 +41 =121
14+73="74
61 4+ 1 =62
50 + 19 = 69
10+5=15
70 +30 =100
0+13=13

78+ 30 =108



